ALS R Types Clamp Type

WALS-014 to 030 WALS-040 WALS-055 to 080
L L L
L1 E L2 E

oo Y el |

l“:

- o 8]

ey

s || s

General Specifications

Misalignment Max Static trosional Radial Moment

Model Parallel Angular Axial rotation speed stiffness stifiness of inertia Mass

(mm) ()] (mm) (min-) (N-m/rad) (N/mm) (Kg-m?) (Kg)
ALS-014-R 0.10 1 0~+0.6 10000 21 380 1.98 x 107 0.007
ALS-020-R 0.10 1 0~+0.8 10000 43 400 1.09 x 10-¢ 0.019
ALS-030-R 0.10 1 0~+1.0 10000 136 650 6.19x 10 0.045
ALS-040-R 0.10 1 0~+1.2 10000 1560 1700 4.01x10° 0.16
ALS-055-R 0.10 1 0D~+1.4 7000 2000 1350 1.63 x 104 0.34
ALS-085-R 0.10 il 0~+1.5 5800 3100 1400 3.69x 104 0.54
ALS-080-R 0.10 1 0-+18 4800 6000 1710 1.04 x 10° 1.00

* Axlal displacement |s not allowed In the negative direction

* Max rotation speed does ot take into account dynamic balance,

* Stiffness values glven are from measurements taken at 20°C

* The moment of Inertia and mass are measured for the maximum bore diameter

General Specifications

Tightening

Model _ _ D DB Ik L1-L2 E s B G M Torque

min. min. (N-m)
ALS-014-R 0.10 0.10 14 16.1 22 7 8 1 35 4.8 1-M2 04
ALS-020-R 0.10 0.10 20 20 30 10 10 1 5 6.5 1-M25 1
ALS-030-R 0.10 0.10 30 30 35 11 13 1.5 55 10.5 1-M3 1.5
ALS-040-R 0.10 010 40 432 66 25 16 2 125 15 1-M5 7
ALS-055-R 0.10 010 55 55 78 30 18 2 10.5 20 1-ME 14
ALS-085-R 0.10 0.10 65 69.8 90 35 20 25 1.5 245 1-M8 30
ALS-080-R 0.10 0.10 80 80 114 45 24 3 1.5 30 1-M8 30

General Specifications
Standard bore dlameter d1, d2 (mm) and rated transmission torque (n-m)

3 4 5 6 635 7 8 10 1 12 14 15 16 18 189 20 22 24 25 28 30 35 42
ALS-014-R  0.31 042 0.54 0.65

Model

ALS-020-R 12 16 21 22 26 3.0

ALS-030-R 20 22 34 47 54 60 74

ALS-040-R 8 16 23 31 34 34 34

ALS-055-R 38 41 48 51 54 61 67 71 80

ALS-065-R 61 68 75 79 89 96 114

ALS-080-R 108 121 151 184




Model L Ball Circuits Dynamic Load Static Load W Hxt F L B Cc K T A M[max] Z
Nominal Dia. Lead  Dia C [kgf] C [kgf]

14-4B1 14 4 2381 2.5x1 376 682 34 Mdax7 13 35 26 22 865 6 M6 30 6
14-4C1 14 4 2.381  3.5x1 498 943 34 M4x7 13 35 26 22 65 6 M6 30 6
14-5B1 14 5 3.175 2.5x1 636 1095 34 M4x7 13 35 26 22 65 6 M6 31 6
16-5B1 16 5 3175 2.5x1 679 1226 42 M5x8 16 36 32 22 7 215 M6 36 6
20-5B1 20 5 3475 2.5x1 745 1526 48 Mex10 17 35 35 22 65 9 M6 39 5
20-10B1 20 10 4763 2.5x1 1280 2314 48 M6x10 18 58 35 35 115 9 M6 46 10
25-5B1 29 5 3175  2.5x1 845 1287 60 M8x12 20 35 40 22 6.5 8.5 MBE 45 i
25-10B2 25 10 6.350 2.5x2 3816 7968 60 M8x12 23 94 40 60 17 10 M6E 54 10
28-6B1 28 6 3.869  2.5x1 1203 2796 60 MBx12 22 42 40 18 12 10 M6 50 8
28-6B2 28 6 3969 25x2 2184 5592 60 MBx12 22 67 40 40 135 10 M6 50

32-10B1 32 10 6.350 2.5x1 2413 5172 70 M8x12 26 64 50 45 95 12 M6 62 10
32-10B2 32 10 6.350 2.5x2 4379 10345 70 M8x12 2B 94 50 60 17 12 ME 67 10
36-10B2 36 10 6350 2.5x2 4592 11403 86 M10x168 28 96 60 60 18 17 M6E 67 "
45-12B2 45 12 7.144 25x2 5963 16110 100 M12x20 38 115 TS 75 20 20.5 M6& 80 13

M max
4-Hxt L

www.Line-harekat.ir




HIWIN.

Linear Motion Products & Technology

DIN Single Nuts FSC DIN [DIN 69051 part 5]
DIN Single Nuts FSI DIN [DIN 69051 part 5]

Lubrication hole

L3
S Lubrication hole
i
a ! "
el .
L2 |
ey
L
Drill template) 1 Drill template 2
ds=132 ds=40
Aricle number ds p Dg6 D1 D2 D3 Drill L L1 L2 L3 S B dk Dynload Statload Axialplay Mass

template Cd,ﬂ,[N] CgIN]  Max.[mm] [ka/pc]

R16-05T3-FSIDIN 18 5 28 48 38 55 b5 40 10 10 5 Me 40 128 7320 12470 0.04 017
R16-10T3-FSIDIN 16 10 28 48 38 5.5 5.5 60 10 10 ;] M6 40 128 6230 11000 0.04 0.25
R20-05T4FSDN 20 5 36 58 47 66 66 52 10 10 5 M6 44 169 11560 24000 004 029
R20-10K3-FSCDIN 20 10 36 58 47 66 68 48 10 10 5 M6 44 173 10000 23500 004 027
R20-20K2-FSCDIN 20 20 36 58 47 66 66 57 10 10 5 M6 44 170 6800 15300 004 030
R505TAFSIDN 25 5 40 62 51 66 66 52 10 12 5 M6 48 223 12400 32960 004 031
R5-10T3FSIDN 25 10 40 62 51 66 66 65 10 16 5 M6 48 212 16500 32700 004 035
R25-25K2-FSCDIN 25 25 40 62 51 66 66 70 10 16 5 M6 48 223 7500 19300 004 037
R32-05TG-FSDIN 32 5 50 80 65 9 9 66 12 12 6 M6 62 291 20560 64700 004 070
R32-10T&-FSDIN 32 10 50 80 65 9 9 85 12 16 6 M6 62 277 38500 65000 004 082
R32-20K3FSCDIN 32 20 50 80 65 9 9 88 12 16 7 M6 62 287 17000 48500 004 088
R32-32K2FSCDIN 32 32 50 80 65 9 9 88 12 12 6 M6 62 287 11600 31800 004 088
R40-05T6-FSIDIN 40 ] 63 93 78 9 9 66 14 10 i M8x1 70 36.7 23360 80300 0.04 110
R4O-I0K&FSCDIN 38 10 63 93 78 9 9 70 14 16 7 M8x1 70 329 45000 123000 007 110

. R40-20K3FSCDIN 38 20 63 93 78 9 9 8 14 16 7 M8x1 70 329 34850 90000

Yy 7 RAG40KZFSCDIN 38 40 63 93 78 9 6 102 1416 7 __MxI_70 329 23000 58400
‘REO-O5TE-FSIDIN. 50 5 75 110 83 1 11 70 16 10 8 M8x1 85 468 25320 104200
R50-10K6-FSCDIN 50 10 75 110 83 11 11 90 16 20 B M8x1 85 448 74500 250000
‘E{’Sé-‘éﬂf‘(‘é—FSCDTf‘i 50 20 ?-5_— 110 93 " 1 132 18 25 9 M8x1 85 455 62000 208000
"RS040K3-FSCDIN 50 40 75 110 93 11 1 149 18 45 9

M8x1 85 4-5-.0 39000 123000

S\

2

«( M1

=

e >




Dimension Table of HQ MOTION Ball Screws
(TYPE) : SFU(DIN 69051 FORM B)

‘ Q Oil Hole

oA
gw
AN
|
|
@d
4D

Unit : mm

I: Lead Da:Ball Dia. ~ n: Number of Circuits K: Stiffness (Kgf/um)
Ca: Basic Dynamic Rating Load (Kgf) ~ Coa: Basic Static Rating Load(Kgf)

Dimensions

d | Da D A B L W X H Q n Ca Coa K
SFU01204-4 12 4 25 24 40 10 40 32 45 30 1x4 902 1884 26
* SFUO01604-4 4 2381 28 48 10 40 38 55 40 M6 1x4 973 2406 32
* SFU0O1605-4 16 5 3.175 28 48 10 50 38 55 40 M6 1x4 1380 3052 32
* SFU01610-3 10 3.175 28 48 10 57 38 55 40 M6 1x3 1103 2401 26
SFU02004-4 20 4 2381 36 58 10 42 47 6.6 44 M6 1x4 1066 2987 38
* SFU02005-4 5 3.175 36 58 10 51 47 6.6 44 M6 1x4 1551 3875 39
SFU02504-4 4 2381 40 62 10 42 51 6.6 48 M6 1x4 1180 3795 43
* SFU02505-4 5 3175 40 62 10 51 51 6.6 48 M6 1x4 1724 4904 45
SFU02506-4 25 6 3.969 40 62 10 54 51 6.6 48 M6 1x4 2318 6057 47
SFU02508-4 8 4762 40 62 10 63 51 6.6 48 M6 1x4 2963 7313 49
* SFU02510-4 10 4.762 40 62 12 85 51 6.6 48 M6 1x4 2954 7295 50
SFU03204-4 4 2381 50 80 12 44 65 9 62 M6 1x4 1296 4838 5jl
* SFU03205-4 5 3.175 50 80 12 52 65 9 62 M6 1x4 1922 6343 54
SFU03206-4 30 6 3969 50 80 12 57 65 9 62 M6 1x4 2632 7979 57
SFU03208-4 8 4762 50 80 12 65 65 9 62 M6 1x4 3387 9622 60
* SFU03210-4 10 6.35 50 80 12 90 65 9 62 M6 1x4 4805 12208 61
* SFU04005-4 5 3.175 63 93 14 55 78 9 70 M8 1x4 2110 7988 63
SFU04006-4 40 6 3969 63 93 14 60 78 9 70 M6 1x4 2873 9913 66
SFU04008-4 8 4762 63 93 14 67 78 9 70 M6 1x4 3712 11947 70
* SFU04010-4 10 635 63 93 14 93 78 9 70 M8 1x4 5399 15500 73
* SFU05010-4 50 10 635 75 110 16 93 93 11 85 M8 1x4 6004 19614 85
* SFU05020-4 20 7.144 75 110 16 138 93 11 85 M8 1x4 7142 22588 94
SFU06310-4 10 6.35 90 125 18 98 108 11 95 M8 1x4 6719 25358 99
SFU06320-4 63 20 9.525 95 135 20 149 115 13.5 100 M8 1x4 11444 36653 112
* SFU08010-4 10 6.35 105 145 20 98 125 13.5 110 M8 1x4 7346 31953 109
SFU08020-4 80 20 9.525 125 165 25 154 145 13.5 130 M8 1x4 12911 47747 138

SFU10020-4 100 20 9.525 150 202 30 180 170 17.5 155 M8 1x4 14303 60698 162

Note: with sign % can be produced in left helix

www.Line-harekat.ir



HIWIN. KX

Linear Motion Products & Technology

MOTION

2-3-12 Dimensions for HIWIN MGN / MGW Series

(1) MGN-C / MGN-H

MGN 7
MGN 9
MGN 12,

MGN 15

Dimensions of

Assembly
Model No. (mm)
H Hh N W B B
MGN7-C
MGN7-H 8 15 5 17 12 25
MGN9-C
MGNO-H 10 2 55 20 15 25
MGN12-C
MGN12-H 13 3 75 27 20 35
MGN15-C
MGN15-H 16 4 85 32 25 35
(2) MGW-C / MGW-H
MGW 7,
MGW 9,
MGW 12,
o
a M oT
MGW 15, -
_N_
Dimensions of
Assembly
Model No. (mm)
H H N W B B
MGW7-C
MGW7-H 19 55 25 19 3
MGW9-C 21 45
12 29 6 30
MGW9-H 23 35
MGW12-C
MGWA12-H 14 34 8 40 28 6
MGW15-C
MGWA5-H 16 34 9 60 45 75
L
L J

(5)

C
8
13

C
10
19
12
24
15
28
20
35

Dimensions of Block
(mm)

L L
1356 225

G Mxt

Gn

H2

- M2x25 108 1.5

21.8 308
18.9 28.9
29.9 39.9
21.7 347

- M3x3

0.8 1.8

- M3x3.5110.8 25

324 454

26.7 42.1
434 sgg +° M4

Dimensions of Block

(mm)

L1 L
21 312
308 41
275 39.3
38.5 50.7
31.3 46.1

G  Mxt
- M3x3

- M3x3

Gn He

0.9 1.85

1.0 24

- M3x3.6 11.0 2.8

45.6 60.4
38 54.8
57 73.8

5.2 M4x4.2

+ 32

Dimensions of Rail
(mm)

We H D h d P

7 48 42 23 24

35 35 20

45 35 25

4.5

3.5

Dimensions of Rail
(mm)

Wr Wpg

HR D h d P

14 - 52 6 32 35 30

18 - 7 6 4535 30

24 - 85 8 45 45 40

42 23 95 8 45 45 40

5

7.5

10

15

E

10

10

15

Mounting Basm.
Bolt Dynamic
. Load
for Rail X
i) Rating
(kgf)
(o]
100
M2
6 140
190
M3x8
* 260
290
M
8 3g0
470
M3x10
* 650

Mounting

Bolt
for Rail
(mm)
M3x6
M3x8
M4x10

M4x10

Load

Rating

(kaf)
(03
140
180
280
350
400
520
690
910

Basic
Static
Load
Rating
(kgf)
Co
127
200
260
410
400
600
570
930

Dynamic Static

Load

Rating

(kgf)
Co
210
320
420
600
570
840
940
1410

St

Mo
0.48
0.78

1.2

2.6
3.9
4.6
7.5

My

Fi

atic Rated QEicht

Moment .

(kgf-m) Block Rail
(9) (kg/m)

My My

029 029 10

049 049 15 0-22

075 075 16

1.9 19 26 0-38

14 14 34

37 37 54 065

22 22 59

59 59 92 106

Static Rated M eight
Moment .
(kgf-m) Block Rail
(@) (kg/m)
Mo My My
16 073 073 20 051
239 158 158 29
409 193 193 40 0.91
556 347 347 57
717 283 283 71 1.49
1047 585 5.85 103
20.32 578 578 143 286
30.48 125 125 215




2-2-13 Dimensions for HIWIN EG Series
(1) EGH-SA / EGH-CA

Model No.

EGH15SA

EGH15CA

EGH20SA

EGH20CA

EGH25SA

EGH25CA

EGH30SA

EGH30CA

EGH35SA

EGH35CA

N Wk
Dimensions
of Assembly
(mm)
H H N W B B,

24 45 95 34 26

28 6 11 42 32

33 7

125 48 35

42

16 60 40

48 18 70 50

6.5

26

32

35

40

50

2341

39.8

29

481

59

41.5

7041

45

K4 Ki
-G L L G_
Kz L1 Kz L1
Cc
T —awx ~2-Mxl
i [ i : © i [
0. o 1 U el o U
]
2 L
=d EGH-CA EGH-SA
E P E
Y
E
T® o]
[o] o]
e R
|6 o]
Basic Basic ;
i Static Rated ’
) ) ) ) ) Mounting Dynamic Static Weight
Dimensions of Block (mm) Dimensions of Rail (mm)  Bolt for Moment
) Load Load
Rail Rating Ratin
e M. M. M, Block Rai
Ki K, G Mxl T H H,WegH: D h d P E (mm) C(kN) G(KN) N-m kN-m kN-m kg |
14.8 5.35 9.40 0.08 0.04 0.04 0.09
35 57 M4x6 6 55 6 15 125 6 45 35 60 20 M3x16 1.25
10.15 7.83 1619 043 010 010 0.5
18.75 7.23 1274 013 006 0.06 0.15
415 12 M5x7 75 6 6 20 15595 85 6 60 20 Mb5x16 2.08
12.3 10.31 2113 022 016 016 0.24
219 11.40 1950 023 042 012 0.25
455 12 Méx9 8 8 8 23 18 11 9 7 60 20 M6x20 2.67
16.15 16.27 3240 038 032 032 041
26.75 16.42 2810 040 021 021 045
6 12 M8x12 9 8 9 28 23 11 9 7 80 20 M6x25 4.35
21.05 23.70 4746 068 055 055 076
28.5 2266 37.38 0.56 0.31 0.31 0.66
7 12 M8x12 10 85 85 34 275 14 12 9 80 20 M8x25 6.14
20 33.35 64.84 098 0.69 0.69 1.13

78

401

56.8

50

69.1

59.1

82.6

69.5

981

75

108

www.Line-harekat.ir




HIWIN. Hx

Linear Motion Products & Technology MOTION

Dimensions Maounting Basic Basic Static Rated Weight
Modal No. Of Assambly Dimensions Of Block (mm) Dimensions OF Rail (mm) Boil For  Dynamic Static Moment Block Rail
[mmj] Rail  Load Rating Load Rating Mgy M My

H H N W B B C L L Ky Ky G Ml T Hp Hy Wg Hg D h d P E {mm) C{kN) ColkN)  kN-m kN-m kN-m K = Kgm
HGH1SCA 28 43 95 34 26 4 26 394 614 10 485 53 Mdx5 6 785 77 15 15 75 53 45 60 20 Mdx18 11.38 16.97 012 010 010 018 145
HGH20CA 30 46 12 44 32 6 36 505 775 122 6 12 M5 8 6 6 20 175 95 85 & 60 20 MSx16 17.75 276 0DZEr 020 020 03 an
HGH20HA 30 46 12 44 32 6 50 652 922 126 6 12 M5k 8 6 ] 20 175 95 85 6 60 20 MSx16 .18 3590 035 035 035 039 s |
HGH25CA 40 55 125 48 35 65 35 58 B4 157 6 12 Méxd 8 0 9 23 2 1 8 T 60 20 MEx20 2648 3649 042 033 033 051 3
HGH2Z5HA 40 55 125 48 35 65 50 786 1046 185 B 12 MBx8 B8 10 9 23 2 1 8 7 B0 20 MEx20 3275 4944 056 057 057 088 321
HGH30CA 45 & 16 B0 40 10 40 TO 8974 20258 B 12 M8x10 B5 85 138 28 26 14 12 8 8 20 M8x25 3874 §2.19 0e6 053 053 088 4.47
HGH3OHA 45 & 16 60 40 10 60 83 1204 2175 6 12  M&x10 BS5 B85 138 28 26 14 12 9 80 2 M8x25 47.27 69.16 ogs 0e2 092 116 4.47
HGH35CA 55 75 18 70 50 10 50 80 H24 208 7 12 M8x12 102 16 196 34 20 14 12 9 8 20 M&x25 48.52 8818 116 081 081 145 630
HGH35HA 565 75 18 70 50 10 72 1058 1382 225 7 {12 M&xi2 102 16 186 34 X 14 12 9 8 20 Max25 60.21 8163 154 140 140 182 6.30
HGH45CA 7O 85 205 86 60 13 60 &7 1394 23 10 128 Mixi7 16 185 305 45 38 20 17 14 105 225 MWiI235  T7.57 k(v 158 155 155 273 1041
HGH4SHA 70 65 205 86 60 13 80 1288 172 288 10 129 MIOx17 16 185 305 45 38 20 17 14 105 225 MWI235 9454 13648 263 268 288 381 1041
HGHSSCA 80 13 235 100 75 125 75 117.7 1887 2735 11 128 M8 175 22 20 53 44 23 20 18 120 30 Mi4xd5  114.44 14833 389 2684 284 417 1508
HGHS5HA B0 13, 235 100 75 125 75 1558 2048 364 11 128 Mi218 175 22 20 53 4 23 20 18 120 30 Mldud5 139.35 19620 488 457 457 549 1508
HGHESCA 90 15 315 126 76 25 70 1442 2002 431 14 129 Mi6x20 28 15 15 63 83 26 22 18 150 35 MIEx50 16363 21533 665 427 427 TO00 2118
HGHESHA 90 15 315 126 76 25 120 2036 2506 478 14 129 Mi1Bx20 26 15 15 B3 63 26 22 18 160 35 MI6x50 20836 30313 538 738 738 982 2118

HG Series Heavy Load Ball Type HG Series Heavy Load Ball Type
HGH-CA [/ HGH-HA HGW-CA | HGW-HA "

Dimensions Mounting  Basic Basic Static Rated Weight
Madel No. OF Assamably Dimensions Of Block (mm) Dimansions Of Rall (mm) Bolt For  Dynamic Statie Mament Biock Rail
(mm) Rall LoadRating LoadRating Ma  Mp My

H H N w B B C Ly L Ky Kz G M T Ty Hz Ha Wr Hg D it d P E {mmy) C{kN) CoikN)  kN-m kN-m kN-m Kg Kgim
HGWISCA 24 43 16 47 38 45 30 394 614 8 485 53 MS 6 88 395 37 15 16 75 &3 45 60 20 Mdx16 11.38 16.97 12 010 010 047 145
HGW20CA 30 46 215 63 53 5§ 40 5056 775 1025 6 12 M6 B 10 6 B 20 175 95 85 & 60 20 MGx 16 11.76 &a.78 027 020 020 040 221
HGW20HA 30 46 215 63 53 5 40 652 922 176 6 2 M6 8 10 6 & 20 175 85 85 6 60 20 MEx16 21.18 35.80 035 035 035 052 221
HGW2sCA 36 55 235 70 57 65 45 58 B4 107 6 12 M8 B 14 & 5 23 2 11 8 T 60 20 Méx20 2648 3649 042 033 033 058 A
HGW25HA 36 55 235 70 57 65 45 786 1046 21 B 12 M8 B 14 6 5 25 B M g T 60 20 MEx20 3275 4944 056 057 057 0BD ks |
HGW3I0CA 41 B N B 72 8 52 T 974 1425 8 12 M0 85 16 BE 108 28 26 14 12 8 80 20 Max25 3a74 5219 068 053 053 1.09 4.47
HGW30HA 41 & 31 80 T2 9 852 83 1204 2575 B 12 M10 45 16 65 108 28 26 14 12 9 80 20 MEx25 47.27 E9.16 088 082 082 144 4.47
HGW3sCA 48 75 33 100 B2 9§ 62 80 1124 146 7 12 MI0 101 18 9 128 34 2 14 12 9 80 20 Max25 48.52 B9.16 116 081 081 1.56 6.30
HGW35HA 48 75 33 100 62 9§ 62 1058 1382 275 7 12 M0 101 18 8 126 34 ®» 14 12 9 80 20 Max25 60.21 91.63 154 140 140 205 6.30
HGW4SCA 60 95 375 120 100 10 B0 97 1384 13 10 129 M12 1561 22 BS 205 45 38 20 17 14 106 225 M35 T7.57 10271 188 155 155 279 10.41
HGW4SHA 60 95 375 120 100 10 B0 1288 1712 288 10 129 MI1Z2 151 22 BS 205 45 38 20 17 14 105 225 MI1X35 9454 13646 263 268 288 369 1041
HGWSSCA 70 13 435 140 116 12 895 M77 1667 1735 11 1289 M4 175 285 12 18 53 44 23 20 16 120 30 M1dxds 114.44 14833 368 264 284 452 15.08
HGWSSHA 70 13, 435 140 116 12 95 1558 2048 364 11 129 M4 175 265 12 19 53 4 23 20 16 120 30 M1dxas 139.35 196.20 488 457 457 59 15.08

HGWSSCA 90 15 535 170 142 14 110 1442 2 231 14 129 M6 25 375 15 15 63

in
&

26 22 18 150 35 Miexs0 16363 21533 665 427 427 917 2118
HGWEEHA 90 15 535 170 142 14 110 2036 2596 528 14 128 M6 25 375 156 15 63

-

26 22 18 150 35 MIEx50 20836 30313 938 738 738 1289 2118




SBR Aluminum Case Unit Open TBR Aluminum Case Unit Open
Part No. LB D W G 6 A M Sx hi Part No. LB D W G 6 A M S1 hl E
SBR16UU LM16UUOP 225 45 33 80° 9 45 M5x12 11 TBR16UU LM16UUOP 31 62 26 80° 8 42 M5 11 18
SBR20UU LM20UUOP 24 48 39 60° 11 50 Méx12 11 TBR20UU LM20UUOP 34 68 31 60° 10 51 M6 11 21
SBR25UU LM25UUCP 30 60 47 50° 14 65 M6x12 12 TBR25UU  LM25UUOP 41 82 41 50° 12 65 M8 12 28
SBR30UU LM30UUOP 35 70 56 50° 15 70 MBx18 15 TBR30UU LM30UUOP 455 91 48 50° 12 75 M8 15 34
SBR35UU LM35UUOP 40 80 63 50° 18 80 M8x18 17
SBR4OUU LM40UUOP 45 90 72 50° 20 90 M10x20 20
SBRSOUU LMSOUUOP 60 120 91 50° 25 110 M10x20 25
At Tightsning balt
Sl W L _ [ i
' 1% I I K ' f

i . x| o -5

[da] i i
T [ '_J.

- € -} . e -
! |
) L i
- 'N -
SCE ALUMINIUM Case Closed SK Shaft Support
Part No. L/B h D W H G A J E PatNo. LMShat h A W H T E D € B
Diameter

SCBUU-B  LMBUU 11 17 34 22 18 6 24 5 SK8 ®8 20 21 42 328 6 18 5 32 14
SC10UUB LM1OUU 13 20 40 26 21 B8 28 6 SK10 @10 20 21 42 328 6 18 5 32 14
SC12UUB LM12UU 15 22 44 30 245 B 33 55 SK12 @12 23 21 42 38 6 20 5 32 14
SC12UUB LM12UU 15 21 42 28 24 74 305 575 SK13 ®13 23 21 42 38 6 20 5 32 14
SC13UUB LM13UU 15 22 44 30 245 B 33 55 SK16 »16 27 24 48 4 8 25 5 38 16
SC16UUB LM16UU 19 25 50 385 325 9 36 7 SKz20 ®20 31 30 60 51 10 30 75 45 20
SC20UUB LM20UU 21 27 54 41 35 11 40 7 SK25 25 3 3 70 60 12 38 7 56 24
SC25UUB LM25UU 26 38 76 515 41 12 54 11 SK30 ®30 42 42 84 70 12 44 10 B4 28
SC30UU-B LM30UU 30 39 78 595 48 15 58 10 SK35 ®35 50 49 98 8 15 50 12 74 32
SC35UU-B LM35UU 34 45 90 68 54 18 70 10 SK40 ®40 B0 57 114 96 15 B0 12 90 36
SC40UU-B  LM40UU 40 51 102 78 62 20 80 11
SC50UU-B  LM50UU 52 61 122 102 80 24 100 11

www.Line-harekat.ir




HY / ¢) samick

MOTION

A 3 ‘ L
A E S i ()’ o
RIIR )
) = B, S S L ol o ,‘-f
f A
c ) ) L)
i a i P! L
SBES Support Rail Unit LME Closed Linear Bushing-SUS Series
LM Shaft )
PatNo. Quer E h B H T F X Y C Part No. Working D
Diameter Bore Diamater
SBS16 ®16 20 25 40 1779 5 185 8 117 30 Resin Steel dr.  ClearNCE  dr  Clear NCE
SBS20 ®20 225 27 45 1772 5 19 8 10 30 (mm}) (mm) (mm) (mm)
SBS30 @25 275 33 55 2113 6 215 B8 12 35 LME5UU-5US LME-5-A 5 12
SBS35 30 30 37 60 2285 7 265 103 13 40 LMEBUU-SUS LME-8-A 8 +0.008 16 0/-0.008
SBS35 ®35 325 43 65 2662 8 28 13 155 45 LME12UU-SUS ~ LME-12-A 12 22
SBS40 @40 375 78 75 2943 9 38 16 17 55 LME16UU-SUS ~ LME-16-A 16 +0.009/-0.001 26 0/-0.009
SBS50 ®50 475 62 95 3879 11 45 20 21 70 LME20UU-SUS ~ LME-20-A 20 32

LME25UU-SUS LME-25-A 25 0/-0.0M1 40 0/-0.011

§ i
 —
! [[ico0000800 03 1
] s
v /
] i" ’.“u i)
{ | U
1
v
Al S——
R [A—
LMF Flanged Linear Bushing LMK Flanged Linear Bushing
Part No. Working D Part No. Warking D
Bore Diameter Bore Diameter
Resin Steel dr. Clear NCE dr. Clear NCE Resin Steel dr. Clear NCE dr. Clear NCE
(mm) {mm) {mm) (mm) {mm) (mm) {mm) {mm)
LMFEUU-SUS LMF-6-A 6 12 LMKEUU-SUS LMK-6-A ] 12
LMFBUU-SUS 8 15 0/-0.011 LMKBUU-SUS 8 15 0/-0.0M1
LMF8UU-SUS LMF-8-A 8 15 LMK8UU-SUS LMK-8-A 8 16
LMF10UU-SUS LMF-10-A 10 0/-0.008 19 LMK10UU-SUS LMK-10-A 10 0/-0.009 19
LMF12UU-SUS LMF-12-A 12 21 0/-0.013 LMK12UU-SUS LMK-12-A 12 21 0/-0.013
LMF13UU-SUS LMF-13-A 13 23 LMK13UU-8US LMK-13-A 13 23
LMF18UU-SUS LMF-16-A 16 28 LMK16UU-SUS LMK-16-A 16 28
LMF20UU-5US LMF-20-A 20 32 LMK20UU-SUS LMK-25-A 20 32
LMF25UU-5US LMF-25-A 25 0/-0.010 40 0/-0.016 LMK25UU-SUS 25 0/-0.010 40 0/-0.016
LMF30UU-5US 30 45 LMK30UU-SUS 30 45
LMF35UU-SUS 29 52 LMK35UU-SUS 35 52
LMF40UU-SUS 40 0/-0.012 80 0/-0.019 LMK40UU-SUS 40 0/-0.012 60 0/-0.019
80 LMKS0UU-SUS 50 B8O

e LMF50UU-SUS 50




LB Series (L1 single Stage]
Standard Type Planetary Reducers

Satge L1 (Single Stage)
Speed Ratio 3,4,57,10
Output End %35
Specification :
435 10 40
Gear Ratio 10:1 5100 .3
Rated Torque 45 N.m | 28
7 =

Instant Stop Torque 2 Times of rated torque {/ 5 o] 7 o o ~
Max Ratial Torque 650 N \ | 7 : =13
Max Axial Torque 900 N
Full Load Efficiency  96% s 405 L5
Intetia 0.34 kgcm
Backlash <8arcmin
Noise 60dB(A),distance 1m

Technical Date:

Gear Ratio 10:1 Output End Input End
Rated Torque 15 N.m
g 270 13 60X60
Instant Stop Torque 2 Times of rated torque 60 4—M5 =15 35
. -3
Max Ratial Torque 340 N 75
Max Axial Torque 450 N ~ 25 ~
- 39 o ] g5 AoV
Full Load Efficiency 96% 3 s =i I“\VQ“M’
30.5 AN I .
Intetia 0.078 kgcm Lo
i 9 A Nanaw
Backlash <8arcmin L ~
Noise 60dB(A),distance 1m

www.Line-harekat.ir



LB Series [L2 Double Stage]

Standard Type Planetary Reducers

Satge
Speed Ratio

Specification :
Gear Ratio

Rated Torque
Instant Stop Torque
Max Ratial Torque
Max Axial Torque
Full Load Efficiency
Intetia

Backlash

Noise

Specification :
Gear Ratio

Rated Torque
Instant Stop Torque
Max Ratial Torque
Max Axial Torque
Full Load Efficiency
Intetia

Backlash

Noise

(1)

L2 (Double Stage)

15, 20, 25, 30, 35, 40, 50, 70, 100

251

120 N.m

2 Times of rated torque
650 N

900 N

96%

0.44 kgcm

<10arcmin

60dB(A),distance 1m

25:1

40 N.m

2 Times of rated torque
240N

450 N

94%

0.064 kgcm

<10arcmin

60dB(A),distance 1m

Output End
90x90

Output End

#100

161.5

Input End
80X80

870G7

~_4-96.5

#50G7

?214G7

, 254 i
L ¥ —
D
40.5 5

126
31.6 =
75
|5 2.5 ]
~
(@] V\r <
9 SL g@
@ 30.5
30.5 —

Input End

60X60




LE Series (L1 single Stage]

Circular Flange Type Planetary Reducers

Satge
Speed Ratio

L1 (Single Stage)

3:4.5.7.10

Technical Data : Input End
BOX80
Gear Ratio 10:1 435 15
2 0107
Rated Torque 45 N.m ‘ o b
28
90
Instant Stop Torque 2 Times of rated torque - - ’
™ ] ~
: g { & ¢ _ q 3
Max Ratial Torque 650 N R 1 % £ NN

Max Axial Torque 900 N

- 4-M5
0,
Full Load Efficiency 96% s L]
Intetia 0.45 kgcm
Backlash <10arcmin
Noise 60dB(A),distance 1m
Technical Data : Input End
Gear Ratio 10:1 60X60
31.5 35
Rated Torque 15 N.m | 3
25
Instant Stop Torque 2 Times of rated torque 5
N H e~
Max Ratial Torque 340 N g % 3 I aé
0| A=Y ‘ ~— 0|
| & |
Max Axial Torque 450 N J% 30.5
Full Load Efficienc 9
Yy  96% 30.5
Intetia 0.078 kgcm
Backlash <8arcmin
Noise 60dB(A),distance 1m

www.Line-harekat.ir




LE Series (.2 bouble Stage]
Circular Flange Type Planetary Reducers

Satge L2 (Double Stage)
Speed Ratio 15,20,25,30,35,40,50,70,100
Technical Data : Input End
Output End 161.5 80X80
Gear Ratio 25:1 435 15 40

Rated Torque 110 N.m

Instant Stop Torque 2 Times of rated torque

e ~ 2107

‘ e
Lo 7 ﬁ* /" 290
;‘lll

Max Ratial Torque 650 N

F%ﬁ
|
©
280
|
922n7
870h7
B

Max Axial Torque 900 N

- 4-M5
Full Load Efficiency 94% s L
Intetia 0.39 kgem
Backlash <10arcmin
Noise 60dB(A),distance 1m
Technical Data : Input End
Output End
Gear Ratio 25:1 970 126
4—M5 31.5 35

Rated Torque 40 N.m .3

75
Instant Stop Torque 2 Times of rated torque 15 55
Max Ratial Torque ~ 240 N ( ) 3 % 2 =hl e

- L /IR R o Y S—
Max Axial Torque 450 N Q-"\"v 305
Full Load Efficiency  94% N 9"
30.5 —

Intetia 0.064 kgcm
Backlash <10arcmin
Noise 60dB(A),distance 1m

®



SE 60 Series isingles Double Stage]
Circular Flange Type Helical Planetary Reducers

Technical Data :

Full Load efficiency

Rated input speed
Operating temperature
Maximum input speed
Lubrication

Installation

Full load efficiency

Life expectancy

Weight

Return clearance

Return gap (economic type)
Maximum allowable radial load
Allow maximum axial load

Maker size

Technical Data :

Full Load efficiency

Rated input speed
Operating temperature
Maximum input speed
Lubrication

Installation

Full load efficiency

Life expectancy

Weight

Return clearance

Return gap (economic type)
Maximum allowable radial load
Allow maximum axial load

Maker size

95 %

3000 min-1

2 Times of rated torque

650 N

Synthetic grease lubrication
arbitrary

95 %

20000 H

3.7 Kg

& 1t;3 arcmin

& 1t;5arcmin

2400 N

2200 N
?14X 30/ @ 50X 3/4 - $¥5.5 - P70

95 %

3000 min-1
25" ~ 25" +90°
6000 min-1

Synthetic grease lubrication
arbitrary

95 %

20000 H

3.7 Kg

& 1t;3 arcmin

& 1t;5arcmin

2400 N

2200 N

P14X 30/ @ 50X 3/4 - $5.5 - @70

Output

hrivl

Rate output torque
Fault stop torque
Moment of inertia
Allow radial load

Allow axial load

Qutput

A= NG

Rate output torque
Fault stop torque
Moment of inertia
Allow radial load

Allow axial load

18 Nm
80Nm

0.22Kgcm 0.17Kgcm 0.16Kgcm

4
27Nm
100Nm

430 N 470N
310N 360N

15
18 Nm
80Nm
0.14Kgcm
740N
630N

16
27Nm
100Nm

#70

5
27Nm
100Nm

7 9 10
75Nm 18Nm 18Nm
100Nm 80Nm 80Nm

-]

0.14Kgcm 0.14Kgem® 0.14Kgem'

510N 620N 620N 640N
390N 510N 510N 530N
Input
-
w8

20
27Nm
100Nm

25 28 30
75Nm 18Nm 18Nm
100Nm 100Nm 80Nm

0.14Kgcm 0.13Kgem 0.13Kgem 0.13Kgem' 0.13Kgem'

750N
650N

810N
720N

870N 910N 930N

790N 830N 860N

www.Line-harekat.ir



MOTION

SE 90 Series isingles Double Stage]

Circular Flange Type Helical Planetary Reducers

Technical Data :

Full Load efficiency

Rated input speed
Operating temperature
Maximum input speed
Lubrication

Installation

Full load efficiency

Life expectancy

Weight

Return clearance

Return gap (economic type)
Maximum allowable radial load
Allow maximum axial load

Maker size

Technical Data :

Full Load efficiency

Rated input speed
Operating temperature
Maximum input speed
Lubrication

Installation

Full load efficiency

Life expectancy

Weight

Return clearance

Return gap (economic type)
Maximum allowable radial load
Allow maximum axial load

Maker size

15)

QOutput

95 %
3000 min-1
25" ~ +90°

6000 min-1

Synthetic grease lubrication

arbitrary

95 % . %% ]

20000 H PLEE R

3.7Kg 3

& 11t;3 arcmin Rate output torque 50 Nm

& 1t; 5 arcmin Fault stop torque 200Nm
2400 N Moment of inertia ~ 1.2Kgem’
2200N Allow radial load ~ 810N
P19X 35/@ 70X 3/4 - (6.5 - PI0 Allow axial load 930 N

95 %

3000 min-1
25" ~ +90°
6000 min-1

Synthetic grease lubrication

arbitrary

95 %

20000 H

3.7Kg 15

& 1t;5 arcmin Rate output torque 50 Nm

& 1t; 7 arcmin Fault stop torque ~ 200Nm
2400 N Moment of inertia ~ 0.72Kgcrh
2200N Allow radial load 1400 N
©19X 35/@ 70X 3/4 - (6.5 - PO Allow axial load 1900 N

___-::-}
|
=
4 5 7 10
75Nm 75Nm 75Nm 50Nm
250Nm 250Nm 250Nm 200Nm

0.95Kgcm 0.86Kgcm’ 0.79Kgcm' 0.75Kgcm’

890N
1100N

960N
1200N

16 20
75Nm 75Nm
250Nm  250Nm

1100N
1300N

1200N
1600N

25 28 30
75Nm 75Nm 50Nm
250Nm 250Nm 200Nm

0.74Kgcm 0.72Kgem’ 0.71Kgem’ 0.73Kgem’ 0.70Kgem'

1400N
1900N

1500N
2100N

1600N 1700N

2200N

1700N

2200N 2200N




SE 120 Series [Single& Double Stage]
Circular Flange Type Helical Planetary Reducers

Technical Data :

Rate output torque
Rated input speed
Operating temperature
Maximum input speed
Lubrication

Installation

Full load efficiency
Life expectancy
Weight

Return clearance
Return gap (economic type)
Permitted radial load
Allow axial load

Maker size

Technical Data :

Rate output torque
Rated input speed
Operating temperature
Maximum input speed
Lubrication

Installation

Full load efficiency
Life expectancy
Weight

Return clearance
Return gap (economic type)
Permitted radial load
Allow axial load

Maker size

120N
3000 min-1
-25" ~ +90°
6000 min -1
Synthetic grease lubrication
arbitrary
95 %
20000 H
8 Kg
& 1t;3 arcmin
& 1t; 5 arcmin
2000 N
2500 N
$22X 55/ @ 110 X 8/4 ¢ 9 -P145

180N

3000 min-1
-25° ~ +90°
6000 min -1
Synthetic grease lubrication
arbitrary

95 %

20000 H

8 .9Kg

& 1t;5arcmin
& 1t;7arcmin
2700 N

3700 N

$22X 55/ 110 X 8/4 9 9 -P145

Output

202

&d

w5z BES)

4U

EEU R

www.Line-harekat.ir




D

AO1PHA

1.400W Brake

ALPHA Servo motor

Name Value
Rated Power 400
Rated Speed 3000

Rated Current 2.5
Rated Torque 1.27
Winding
Resistance 2:6
Voltage 309
Constant
Rotor Inertia 0.5
Braking 15
Torque
2.400W
ALPHA Servo motor
Name Value
Rated Power 400
Rated Speed 3000
Rated Current 2.5
Rated Torque 1.27
Wl.ndlng 26
Resistance
Voltage 309
Constant
Rotor Inertia 0.45

Motor Technical Specification

Unit
W
RPM
Arms
N.m

Q
V/1000r/min

Kg.m’x10™

Name Value Unit
Rated Voltage 220 v
Peak Speed 6000 RPM
Peak Current 7.5 Arms
Peak Torque 3.81 N.m
Winding 5 g -
Inductance
Torque
Coefficient 0.51 N.m/A
Encoder 5 pairs of pole incremental
encoder
Brake With brake
138
108 m -
o1 (L)
]

Motor Technical Specification

Unit
W
RPM
Arms
N.m

QO
V/1000r/min

Kg.mleo'4

Name

Rated Voltage
Peak Speed
Peak Current
Peak Torque

Winding
Inductance
Torque
Coefficient

Encoder

Value Unit
220 \"
6000 RPM
7.5 Arms
3.81 N.m
5.8 mH
0.51 N.m/A

5 pairs of pole incremental

encoder



3.750W Brake

ALPHA Servo motor

195
168

—=
Motor Technical Specification
Name Value Unit Name Value Unit
Rated Power 750 w Rated Voltage 220 Vv
Rated Speed 3000 RPM Peak Speed 6000 RPM
Rated Current 4.8 Arms Peak Current 14.4 Arms
Rated Torque 2.4 N.m Peak Torque 7.2 N.m
Wl'ndlng 138 0 Winding 4.7 mH
Resistance Inductance
Voltage . Torque
Constant 32.7 V/1000r/min Coefficient 0.54 N.m/A
Rotor Inertia 1.5 Kg.m2x10'4 Encoder > pairs of pole incremental
encoder
Braking 4 N.m Brake With brake
Torque
163
L 18 Il
4.750W SN TR
<) | T 9 ot
d i M
ALPHA Servo motor =
— H l;h‘__m;._,' .-.,.-,
Motor Technical Specification
Name Value Unit Name Value Unit
Rated Power 750 w Rated Voltage 220 \Y
Rated Speed 3000 RPM Peak Speed 6000 RPM
Rated Current 4.8 Arms Peak Current 14.4 Arms
Rated Torque 2.4 N.m Peak Torque 7.2 N.m
Wl.ndmg 138 a Winding 47 mH
Resistance Inductance
Voltage . Torque
T 32.7 V/1000r/min Coefficient 0.54 N.m/A

www.Line-harekat.ir




AO1LPHA

5.1kw 110mm Flange
ALPHA Servo motor

ol1l 193

THPCEY xbxdD

Motor Technical Specification

Name Value
Rated Power 1000
Rated Speed 3000
Rated Current 5.2
Rated Torque 3.18

W|'nd|ng 0.73
Resistance
Voltage 387
Constant
Rotor Inertia 4.95
Braking /
Torque

6.1kw with brake 110mm Flange

ALPHA Servo motor
Name Value
Rated Power 1000
Rated Speed 3000
Rated Current 5.2
Rated Torque 3.18
Wl'ndlng 073
Resistance
Voltage 387
Constant
Rotor Inertia 5.9
Braking 3

@ Torque

Unit Name
w Rated Voltage
RPM Peak Speed
Arms Peak Current
N.m Peak Torque
o Winding
Inductance
. Torque
V/1
T Coefficient
Kg.m’x10™ Encoder
N.m Brake

Value Unit
220 v
5000 RPM
15.6 Arms
9.54 N.m
2.96 mH
0.61 N.m/A
5 pairs of pole incremental
encoder
/

Motor Technical Specification

Unit
W
RPM

Arms
N.m

Q
V/1000r/min
Kg.mleo 4

N.m

Name

Rated Voltage

Peak Speed
Peak Current

Peak Torque

Winding
Inductance
Torque
Coefficient

Encoder

Brake

Value Unit
220 Y
5000 RPM
15.6 Arms
9.54 N.m
2.96 mH
0.61 N.m/A
5 pairs of pole incremental
encoder
With brake



7.1kw 130mm Flange

ALPHA Servo motor

Motor Technical Specification

Name Value Unit Name Value Unit
Rated Power 1000 w Rated Voltage 220 Vv
Rated Speed 2000 RPM Peak Speed 3000 RPM
Rated Current 4.7 Arms Peak Current 14.1 Arms
Rated Torque 4.77 N.m Peak Torque 14.31 N.m

Winding 2.04 Q Winding 13,5 mH
Resistance Inductance
Voltage . Torque
Constant 66.2 V/1000r/min Coefficient 1.02 N.m/A
Rotor Inertia 9.3 Kg.mleo'4 Encoder 5 pairs of pole incremental
encoder
Braking
Torque / N.m Brake /

8.1kw with brake 130mm Flange

ALPHA Servo motor
Motor Technical Specification
Name Value Unit Name Value Unit
Rated Power 1000 W Rated Voltage 220 Vv
Rated Speed 2000 RPM Peak Speed 3000 RPM
Rated Current 4.7 Arms Peak Current 14.1 Arms
Rated Torque 4.77 N.m Peak Torque 14.31 N.m
Winding 2.04 Q Winding 13.5 mH
Resistance Inductance
Voltage . Torque
e 66.2 V/1000r/min Coefficient 1.02 N.m/A
Rotor Inertia 11.5 Kg.mleo’4 Encoder 3 (=l @F el Ierna]
encoder
Braking .
15 N.m Brake With Brake
Torque

www.Line-harekat.ir




ALPHa

9.1.5kw 130mm Flange
ALPHA Servo motors

134

Name
Rated Power
Rated Speed

Rated Current
Rated Torque
Winding
Resistance
Voltage
Constant

Rotor Inertia

10.1.5kw with brake 130mm Flange

Value
1500
2000

7.1
7.16

0.79

64.1

18.7

ALPHA Servo motors
Name Value
Rated Power 1500
Rated Speed 2000
Rated Current 7.1
Rated Torque 7.16
Wl.ndlng 0.79
Resistance
Voltage 64.1
Constant
Rotor Inertia 21.5
Braking 15
Torque

Motor Technical Specification

Unit
W
RPM
Arms
N.m

Q
V/1000r/min

Kg.m’x10™

Motor Technical Specification

Unit
W
RPM
Arms
N.m

Q
V/1000r/min
Kg.mleo'4

N.m

Name
Rated Voltage
Peak Speed
Peak Current
Peak Torque
Winding
Inductance
Torque
Coefficient

Encoder

Brake

Name Value Unit
Rated Voltage 220 Vv
Peak Speed 3000 RPM
Peak Current 21.3 Arms
Peak Torque 21.48 N.m
Winding 618 .
Inductance
Torque
Coefficient 1.01 N.m/A
Encoder 5 pairs of pole incremental
encoder
245 5
180 .

i ! _____l i) LE.-'JI.:J

Value Unit
220 Vv
3000 RPM
21.3 Arms
21.48 N.m
6.18 mH
1.01 N.m/A

5 pairs of pole incremental
encoder
With Brake



ALPHA Inver:te__r >»

H300 SERIES HIGH PERFORMANCE
VECTOR VFD

FEATURES

With advanced open loop vector control technology, and excellent voltage and current
control technology;

*Starting Torque 0.5Hz/150%,speed ratio 1:100,dynamic response<20ms,speed
precision£0.2%;

-Wide voltage range design,AC 3PH:380V(-30%)~400V(+15%);

«Build-in Filter,with high EMC performance,which can work in the place with
electromagnetic interference;

*Items below 22KW with build-in braking system;

=Support DC BUS mode and DC power supply;

*With various braking modes,such as dynamic braking,magnetic flux braking, and DC
braking,it can stop at once;

*No stop with instant power failure,which meets various requirement of the customers;

«Designed air flue,support hanging.floor standing.flange installation modes.

Slonndsi
oLz g 5ty ol 4d > g ad yioy J xS« Control Vector  aid iy peumw @
sy s’ €83 ¢ 4l (ro Vo 51 0S Lgy (opadiuly Nider ot 4y Comd 352 ¢/ B iS5 )3 5 700 HolilS g9 0 @
t/+.Yogus 4o
AC 3PH:380V(-30%)~400V(+15%); <}l aw 5Ldg 1o gy >l yb @
DC 4045 g0 9 DC b Cdlo 0058 (10li' (AS15 30 3 s b OlgglS VY 25 sl @
S Ao aicxd 5o Wilgi (0 4S DC oy ¢ smmrblito «Seoliuld jo,5 Jio e oy Il glgil @
el Conodl Plo jlows Ol o Gl a5 (B (ol Alid (o2la3 j0 L3 (g @
el ol (> yb gl 51w 9 S (595 (555158 (Sl gl Wy A s (5l 49945 i @

www.Line-harekat.ir




AO1PHA

Terminal Wiring Diagram

(ORRO)

485+ 485-

)

All

)

Al2

®

GND| S1

)

T/A

JORRO),

T/B | T/C

(OO

+10V

AO1

)

AO2

OO

GND | +24V

(ORLO)

M |T/A2

)

T/B2

)

T/C2

Terminal Mark

R.S.T

UVow

Type Terminal
Mark
Power
+10V-GND
+24V-COM
oP
Analog 1y _Gnp
Input
AI2-GND
S1-0OP
Digital S2-0P
Input S3-0P
S4-0P
S6-0OP
S5-0OP
Analog
Output
AO1-GND
AO2-GND
DO1-CME
Digital
Output
FM-CME
T/A-T/B
T/A-T,
Relay 4 e
Output
A4 T/A2-T/B2
T/A2-T/C2
Commu
nication 485+485-

Name
Three Phase Power Input Terminals

DC Bus Positive and Negative Terminals

Common DC Bus Input Point(Connection
Point of External Braking unit for above 11KW)
Connection Points of Braking
Resistance Below 22KW

Description

AC Input Three Phase Power Connection Point
DC Bus Positive and Negative Terminals
Connection Terminals of Braking Resistance

External Reactor Connection Terminals

External Reactor Connection Points

Grounding Terminals

Terminal Name

External +10V
Power

External +24V
Power

External Power
Input Terminal

Analog Input
Terminal 1

Analog Input
Terminal 2

Digital Input 1
Digital Input 2
Digital Input 3
Digital Input 4
Digital Input 6
High Speed
Pulse Input
Terminals

Analog Output 1

Analog Output 2

Digital Output 1

High Frequency
Pulse Output

Normally Close
Terminals
Normally Open
Terminals
Normally Close
Terminals
Normally Open
Terminals
RS485
Communication
Terminals

Connected to Three Phase Motor

Grounding Terminals

Function Description

Provide External +10V power,Max. Output Current:50mA.
Generally used for external potentiometer working
power,resistance range of potentiometer:1kQ~5kQ.
Provide External +24V power,generally used for working
power of digital input and output terminal and power of
sensor. Max output current:200mA.

Connect via J9 wire in the controller board with +24V and
COM, default connecting is with +24V.

When using external signal driver digital input terminal
S1~S6,0P needs to wire with external power and need to

unplug J9 wire cap.
J9 wire cap short circuit pin 1,2 to +24V,short circuit pin
2,3 connect with COM.

1.Input voltage range:DC 0V~10V

2.Input Impedance:22kQ

1.Input Range:DC 0V~10V/4mA~20mA

2.Input Impedance:for voltage input 22kQ,for current
input 500Q.

3.18 wire cap short circuit pin 2,2 with voltage input,short
circuit pin 2,3 with current input.

1.0pto-isolator,compatible with bipolar input
2.Input Impedance:2.4kQ
3.Voltage range for electric level input:9vV~30V

With characters of digital input terminal, it can use as high
speed pulse input channel also.

Max input frequence:50kHz

Defined by J5 wire connection in the controller board to
have voltage or current output. Output Voltage
range:0V~10V Output current range:0mA~20mA

J5 wire cap short circuit Pin1,2 select voltage,short circuit
pin 2,3 to select current.

Defined by 112 wire connection in the controller board to
have voltage or current output. Output Voltage
range:0V~10V Output current range:0mA~20mA

J5 wire cap short circuit Pin1,2 select voltage,short circuit
pin 2,3 to select current.

Opto-isolator,bipolar open collector output

Output voltage range:0V~10V Output Current range:0mA~20mA
Note:Digital output Ground CME and digital input ground
COM are internal isolated. Factory default do short circuit
of CME and COM from J10 wire in the controller board(at
that time DO! Default driver by +24V).If DO1 needs to
drive by exer

With the restriction of F6-00” FM Terminal Output Mode
Selection”.The max frequency is 50kHz when working as
a high speed pulse;same standard as DO1 when working
as a collector open circuit.

Contact point Driver ability:
AC250V,3A,COSP=0.4.
DC 30V, 1A.

RS485 communication,short circuit pin 1,2 of J14,it can
match 100R terminal resistance.

‘Three Phases N ¢
380V

Digital Input 1
Digital Input 2
Digital Input 3
Digital Input 4
Digital Input 5
Digital Input 6

18 Virs Jump Short
Ciruitwith P 304 2

o)
DC:0-10V

3 o)

I< DCO10V0-20mA

Jnduj Bojeuy

Rs485 Communication

LV
leﬁzﬁ "oz p02

Terminal Wiring Diagram

Analog Output
0-10/0-20mA

TA-TC Normally Open Contact
TA-TBNormally Close Contact

TA2-TC2 Normally Open Contact
TA2-TB2 Normally Close Contact

0
DC 48V/50mA
Q

O
DC 48V/50mA
O




Spindle motor »

Ay e
ols
skl
Sul
BEPCS
oS8
PENP eIt
SIS b
Sl o jled

¥B%)

e
ol
Sl
BEB
oS
Jaiggadd i Ja
SIS SEA piin
b il o s

By

: 18000RPM
: 4.5KW
: 2.39Nm
: 380V
: 15/9.0A
: 300HZ

:ER32-03.175- 0 20

(B

.2 2*7008C P4,2*7002C P4

1 12Kg

: 24000RPM
1 9KW
: 380V
: 20/32A
: 400-800HZ
: ISO30cone

158

.2 2*7008C/P4,2*7006X/P4

: 31Kg

www.Line-harekat.ir



o Jlu"

MOTI

O

N

Full-automatic lubricating oil
pump 2Liter

TYPE: hts02 TANK VOLUME 2L
VOLTAGE: 220V MOTOR POWER: 28W
ELECTRIC CURRENT: 0. 35A RATED PRESSURE: IMPa
FLOW RATE 50ML/MIN GREASE LABEL 328-644#
SINGLE WORKFLOW 0-99ML INTERVAL 10-999MINS

Semi—automatic lubricating oil
pump l.8Liter

TYPE: hts02-d TANK VOLUME 1.8L

VOLTAGE: 220V MOTOR POWER: 28W

ELECTRIC CURRENT: 0. 35A RATED PRESSURE: IMPa
FLOW RATE 50ML/MIN GREASE LABEL 328644



hertz® Spindle Motors »

SPINDLE MOTORS

HM 90

Type

HMS0 - 10

HMAO - 14

HMS0 - 17

Frequency
Hz

100
200
300
300
400

200

300
400

200
200
300
400

Speed
Rpm
3000
6000

12000

18000

18000

24000
3000
6000

12000

18000

18000

24000
3000
6000
6000

12000

18000

24000

Power
Kw
0.65
1.5
35
40
4.5
4.5
1
22
45
55
6.0
6.0
1.5
3.0
4.0
55
7.0
7.0

Voltage

220 - 380
220 - 380

EEEE

220 - 380
220 - 380

EEEE

220 - 380

EEEEE

Absorbtion

37-18
64-36
77
9.0
96
8.6
49-29
95-565
85
12.0
124
124
6.3-3.5
7.2
9.0
120
14.5
14.5

Power Fac.
Cos ¢
0.72
0.75
0.80
0.85
0.85
0.85
0.72
0.75
0.80
0.85
0.85
0.85
0.72
0.75
0.80
0.85
0.85
0.85

www.Line-harekat.ir

Waight
Kg

HME0 - 10

HMS0 - 14

HME0 - 17




HA

MOTION

Helical & Straight Racks

Helical Hardened Racks

1 i I =] T
| . ok g A | B
[ |l -
@d1
...QD-
i Dimension e
F
L2 No.of B A0 Al D I No of A odl @D E D1 11 ed2 f - K
Code Module Teeth Hales kN
CHTMHO01510-DIN10 15 1000 &.00 200 17 17 155 625 125 g 7 9.5 Z 317 936 57 15 457 2.1
CHTMHO2010-DIN1O 2z 1000 8.50 150 24 24 22 625 125 B8 8 7 11 7 31.7 936.6 5.7 2 B.56 4.1
CHTMHO2020-DIN10 2 2000 8.50 300 24 24 22 825 125 16 8 11 z 31.7 19366 5.7 2 8.66 82
== Material S45C
445 Right Hand Angle 19 31 42"
& Hardness: HRC 50~55
b Surfaces: Sand-blasted.
|0 o i 2
L g ) | | | o :
I
| I (-
I ; ; 2 L [
i
N A T
e,
S imenon < an
Fra
L No.of B A0 Al D | No of A gdl @D E D1 11 pd2 f KG
Code Meodule Teeth Holes kN
CSTMO1510-DINE 1.5 999.03 212 17 17 155 6244 12488 8 7 3] 9.5 7 29 941.00 5.7 1.5 3.62 19
CSTMO2010-DINS 2 1005.31 1s0 25 24 22 62.83 125.66 8 a8 7 11 7 313 94270 L 2 7.07 4.1
CSTMO2020-DINS 2 2010.62 320 25 24 22 62.83 125.66 16 8 7 11 4 31.3 1948.00 5.7 2 7.15 21
CSTMO3010-DINE 3 1017.88 108 30 29 26 63.62 127.23 8 g 10 15 9 344 94910 7.7 2 1261 59
CSTMO3020-DINE 3 203575 216 30 29 26 63.62 127.23 16 g 10 15 9 344 1967.00 7.7 2 1280 119
CSTMO4010-DINE 4 100531 80 40 39 35 62.83 125.66 8 12 10 15 9 375 93030 7.7 2 2221 105
CSTMO4020-DINS 4 2010.62 160 40 39 35 62.83 125.66 16 12 10 15 9 37.5 193560 7.7 2 2263 210

== Material S45C
= Hardness: HRC 10~12




57HSxx Series

Unit:mm  linchs25.4mm

L hax

i

:i.!b -gm -

T

16

e

n30s 461405

GAN

YEL BIK BIU

The Diameter of the shaft the 57THS22 is 8 mm, and those of other are 6.35 mm

Match Drives
Model
57THS04
57HS09

General Specifications
Angie Accuracy
Temperature Rise
Ambient Temperature
Insulatuion Resistance
Dielectric Strength
Shaft Radial Play
Shaft Axial Play

Match Drives

EMS03 / EM705 / DM556

* 5%(full step, no load)
80°C Max

-10°C - +50°C

100M €2 min. 500VDC
S500VAC for one minute
0.06 Max. (450g-load)
0.08 Max. (450g-load)

Stepper »

Model

57HS13
57HS22

Selection Table

phase

NEMA Model
Size
57THS04
5THS09
23
57HS13
57THS22

BLY

4 | mens wp ) |'r.amm\':
"o —
o S M
¥EL Bl BAN MK ORG WHT
Match Drives
EMS503 / EMT705 | DM556
Current/ Holding
Step  #of Conection phase Torque Length Weight Match Drives
Angle Leads (A) (Nm) Limm) (Kg)
1.8 6  Series 20 0.4 4 0.45 EMS503/DMS556
Unipolar 2.8 0.28
Parellel 4.2 13
1.8 8  Series 241 1.3 54 0.6 EMS503/Em705/DM556
Unipolar 2.8 09
Parellel 4.0 1.8
1.8 B8  Series 20 1.8 76 1.0 EMS03/Em705/DM556
Unipolar 2.8 13
Parellel 586 22
1.8 8  Series 28 22 81 1.15 EMS503/Em705/DM556
Unipolar 4.0 15

www.Line-harekat.ir




B

MOTION

86HSxx Series

Unitzmm  linchs25.4mm

.
J —
*0-0.027 [l { r/ “\
YEL ‘

| BLEADS |

BLU — 5 \\_-.‘/‘

Y~ ~

BLE

WHT ORG BRN GRN

The shaft of the 86HS45 is round, no flat.

Match Drives

Model Match Drives Model Match Drives

St EM705 / EM806 / DM1182 — EM705 / EM806 / DM1182

86HS45/86HS65
General Specifications Selection Table

Angie Accuracy *5%(full step, no load) Current/ Holding

Temperature Rise 20°C Max phase NEMA Model Step  #of Conection phase Torgue Length Weight Match Drives

- b 5 Size Angle Leads {A) (Nm) L(mm) (Kg)

Ambient Temperature -10°C - +50°C

Insulatuion Resistance  100M Q min. 500VDC Feemliel; | Al 85

Dielectric Strength BOOVAC for one minute B8BHS35 1.8 6 Series 20 3.5 65 1.7 EM70S/EMB0E/DMET0
Shaft Radial Play 0.06 Max. (450g-load) VNPRL v

Shaft Axial Play 0.08 Max. (450g-load) EEES, 60 | &3

86HS45 1.8 B8  Series 30 45 80 23  EM7DS/EMBOG/DMBTHOM1182

General Specifications Unipolar 4.2 3.2

Model T KEY D 2 24 Parellel 6.1 6.5

86HS35 ! / 9.5 86HS65 1.8 B8 Series 305 6.5 96 2.3 EMB0G/DMBTODMI182/DM2282
B6HS45 ! / 12.7 Unipolar 4.3 4.6

86HS65, 86HS85 14.7 5'5'25 127 Parellel 6.8 8.5

86HS120 17.875 5*5*25 15.875 86HSBS 1.8 8  Series 34 85 118 3.8 EMS0SDMETIOMI182DM2282

Unipolar 4.8 6.0
- Parellel 6.0 12
w01
86HS120 1.8 8  Series 30 12 156 5.3 EMS0BDMBTODM1182/DM2282

= ¥ 25401 ~
‘ ! [ Unipolar 4.2 8.4

1270002

Stepper Drive

Control Power Matching Connectar
Model Phase Series Type Voltage (v) Current (A) Motors Configuration  Type
AC Dc Peak (NEMA)
Ms42 2 M  Step & Dir - 24 -50 1.0-4.2 17,23 DIP switch X
M752 2 M  Step & Dir - 20-70 1.26-5.2 23, 34 DIP switch X
MB60 2 M  Step & Dir - 24 - 80 24-72 17,23, 34 DIP switch X
MB80A 2 M Step & Dir - 24 -80 28-78 23, 34 DIP switch X
MABGBOH 2 M Step&Dir 36 -80 50-110 24-7.2 34, 42 DIP switch X




| =

LINE HAREKAT Co.

Axis Cover »

Size no. Afmm] B [mm]
10 150 50
120 160 50
200 240 67
320 360 100
500 540 100

Standard Cover Width & Height

SHIM PLATE MAY BE

REQUIRED FOR
SOME COVERS
THAT EXCEED

BEARING HEIGHT .

* SHIM =
THICKNESS! , . _
T _ar

L

LINEAR
RAIL
BEARING

Rail Cover »

C [mm] P [mm]
110 20
120 20
200 20
320 20
500 20

COVER WIDTH 'W'

-

FORM FITTING PVC
INTERNAL SUPPORTS

Ball Screw Cover »

Size no. Amm] B [mm]
25 25 35
30 30 40
35 35 45
45 45 55
55 55 85
EXTENDED LENGTH _
STROKE
LENGTH COMPRESSED
4 LENGTH
—_1mm MIN.
CLEARANCE
-1
77, | CoveR
A |~ HEIGHT
| ep
A
" SEPARATE
- MOUNTING KITS
AVAILABLE
LINEAR RAIL
Rail Size w H
15 59 33
20 64 34
25 67 38

www.Line-harekat.ir




| =

LINE HAREKAT Co.

Ball Transfer Units »

PatNo. BallSize D D1 h H PatNo. MatchNuts D B H h E L C1 C2 P X W Y
[mm] [rmm] [mm] [mm] [mm]
BSG16H 16051610 28 52 40 20 12 40 8 24 40 M5 38 M6
SRS N2 = = 20 i8:3 BSG 1616 1616 32 54 38 19 8 40 B 24 44 M5 42 M6
SP15B  15.8 24 315 10 21 BSG20H 2005/2010 36 62 44 22 12 40 8 24 48 M6 47 M6
SP22B 299 36 45 9.8 305 BSG 2020 2020 39 64 46 23 11 40 8 24 52 M6 50 M6
T % e o % BSG25H 2505/2510 40 66 48 24 13 40 8 24 50 M6 51 M6
BSG 2525 2525 47 68 56 28 9 40 8 24 50 M6 60 M6
SP30B 30 45 oy 14 36.8
BSG32H 3205/3210 50 86 62 31 17 40 8 24 66 M8 65 M6
SP4s5B 444 62 75 18 53.5 BSG40H 4005/4010 63 100 70 35 19 40 B 24 80 M8 78 M6
SPE0OB 60 100 17 48 T BSGHOH 5010 75 116 B 425 22 46 10 26 92 M8 93 M6

Support Nut »




LFR Series

Part No. dw d D c

LFR 50/5-4 KDD 5 5 16 8
LFR 50/5-6 NPP 6 5 17 7
LFR 50/8-6 NPP 6 8 24 11
R 8.85 2RS 6 8 248 17 //;// 4’/// §
LFR 5200-8 KDD 8 10 32 14 (- c-']
LFR 5201-10 NPP 10 12 35 15,9 AT P e
LFR 5201-12 NPP 12 12 35 159 3 )
LFR 5201-14 NPP 14 12 39,9 18
LFR 5204-16 NPP 16 20 52 20,6
LFR 5206-20 NPP 20 25 72 238
LFR 5301-10 NPP 10 12 42 19
LFR 5301-20 NPP 20 12 42 19
LFR 5302-10 NPP 10 15 47 19
RV Series
Part No. dw d D c
RV 20/7-10 10 7 22 11
RV 20/8-10 10 8 30 14
RV 202/15.38-10 10 15 38 17
RV 202/16.40-10 10 15 40 18
RV 202/15.41-20 20 15 41 20
RV 203/17 20 17 58 25
RM Series

www.Line-harekat.ir



Trapezoidal screw type KQX - Steel C15 1.1141

Stock no. for screw Stock no. for screw Diameter Thread Lead accuracy Straightness Weight
RIGHT LEFT X lead Starts pum / 300 mm mm / mm kg [ mt
KQX10JR ... KQX10JL... Tr 10x4 (P2) 2 200 0.7 /1000 048
KQX 12BR .. KQxX 12BL... Tr 12x6 (P3) 2 200 0.7 /1000 0.65
KQX14BR .. KQx14BL.. Tr 14x8 (P3) 2 200 0.7 /1000 0.93
KQX 16BR .. KQX16BL... Tr 16x8 (P4) 2 200 0.7 /1500 L4
KQX18BR .. KQX18BL.. Tr 18x8 (P4) 2 200 0.7/ 1500 1.53
KQX20BR .. KQxX20BL.. Tr 20x8 (P4) 2 200 0.6 /2000 1.94
KQX 20DR ... KQX20DL.. Tr 20%20 (P5) 4 200 0.6/ 2000 1.84
KQX22BR .. KQX22BL.. Tr 22x10 (P5) 2 200 0.6/ 2000 2.29
KQX24BR .. KQX24BL.. Tr 24x10 (P5) 2 200 0.4/ 2000 278
KQX25BR ... KQX25BL .. Tr 25210 (P5) 2 200 0.4 /2000 3.05
KQX25ER ... KQX25EL.. Tr 25x25 (P5) 5 200 0.4 /2000 3.05
KQX26BR ... KQX26BL .. Tr 26x10 (P5) 2 200 0.4 /2000 3.33
KQX 28BR .. KQxX28BL.. Tr 28x10 (P5) 2 200 0.4/ 2000 3.92
KQX30BR .. KQX 30BL.. Tr 30x12 (P6) 2 200 0.4 /3000 4.38
KQX30FR.. KQX30FL.. Tr 30x30 (P5) 6 200 0.4 /3000 4.57
KQX32BR.. Kax3zBL.. Tr 32x12 (P6) 2 200 0.4 /3000 5.06
KQX36BR .. KQX36BL.. Tr 36x12 (P6) 2 200 0.3/ 3000 6.56
KQX40BR ... KQX40BL.. Tr 40x14 (P7) 2 200 0.3/ 3000 8.03
KQX40ER ... KQX40EL .. Tr 40240 (P8) 5 200 0.3 /3000 7.80

a5
chamfer 1x45° ==

P =
i = -
s
T I
—
o ool 2
o - ;
1
Trapezoidal nut type FXN - Flanged bronze ' '
Material : EN 1982 Cu Su12-C CC483K ' gl
I L 8 From Tr 24x5 (6 holes) Unil Tr 22x5 (4 holes)
MNut Stock no. MNut Stock no.  Diameter Thread d1 d2 dz d2 dli d4 d5 P L s no.screw Fastening Wt At
RIGHT LEFT X lead Stats mm mm mm mm mm mm mm mm mm mm holes screw Kgleach mm?®(1)
(class 8.8)

FXN10AR FXN10AL Tr 10x4 1 18 26 26 26 37 45 75 42 22 8 4 M4 0.088 294
FXN12AR FXN12AL Tr 12x3 1 18 26 26 26 37 45 75 42 72 8 4 M4 0.082 362
FXN10B R Tr 12x6 (P3) 2 18 26 26 26 37 45 75 42 22 B 4 M4 0.082 362
FXN10AR FXN 14 AL Tr 14x4 1 20 30 30 30 42 55 95 52 25 10 4 M5 0.123 470
FXN16AR FXN16AL Tr 16x4 1 22 32 32 32 45 55 895 52 30 10 4 M5 0.149 660
FXN 16 B R --- Tr 16x8 (P4) 2 22 32 32 a2 45 55 85 52 30 10 4 M5 0.149 660
FXN 18 AR FXN18AL Tr 18x4 1 25 35 35 35 48 355 85 8.2 35 10 4 M5 0.188 880
FXN20AR FXNZ20AL Tr 20x4 1 30 40 40 40 52 55 85 52 40 10 4 M5 0.267 1130
FXN20BR — Tr 20x8 (P4) 2 30 40 40 40 52 b5 85 52 40 10 4 M5 0.267 1130
FXN20DR — Tr 20x20 (P5) 4 30 40 40 40 52 BB Bb 52 40 10 4 M5 0.270 1100
FXN22AR FXNZ22AL Tr22x5 1 30 40 40 40 52 65 95 &§2 40 10 4 M5 0.247 1225
FXN24 AR FXN24AL Tr 24x5 1 35 48 48 48 62 65 11 65 45 12 6 M6 0.408 1520
FXN25AR FXNZ25AL Tr 25x5 1 35 48 48 48 62 €% 11 65 45 12 6 M6 0.393 1590
FXN25B R --- Tr25x10 (P5) 2 35 48 48 48 62 65 11 65 45 12 6 M6 0.393 1590
FXN25ER - Tr 25%25 (P5) 5 a5 48 48 48 62 6.5 1" 6.5 45 12 6 M6 0.393 1590
FXN26 AR FXNZ26AL Tr 26x5 1 35 48 48 48 62 65 11 65 45 12 6 M6 0.378 1660
FXN28AR FXN 28 AL Tr 28x5 1 40 a3 53 53 68 6.5 it 6.5 50 12 6 MB 0.532 2000
FXN28BR — Tr 28210 (P5) 2 40 53 53 53 68 6.5 i 6.5 50 A2 6 MB 0.532 2000
FXN30AR FXN30AL Tr 30x6 1 40 53 53 53 68 65 11 65 50 12 6 M6 0.497 2120
FXN30BR - Tr 30x12 (P6) 2 40 53 53 53 68 6.5 " 6.5 50 12 6 MB 0.497 2120
FXN30FR — Tr30x30 (P5) 6 40 53 53 53 68 65 11 65 50 12 6 M6 0492 2590
FXN3ZAR FXN32AL Tr 32x6 1 40 53 53 53 68 65 11 65 50 12 6 M6 0455 2277
FXN35AR FXN35AL Tr 35x6 1 50 63 63 63 78 85 14 85 60 15 6 M8 0.883 3015
FXN36AR FXN3BAL Tr 36x6 1 50 63 63 63 78 85 14 85 60 15 6 M8 0.854 3110
FXN40OAR FXN40AL Tr 40X7 1 55 68 68 68 84 85 14 85 65 15 6 M8 1.066 3727
FXN40BR — Tr 40x14 (P7) 2 55 68 68 68 84 8.5 14 8.5 85 15 6 M8 1.066 3727
FXN4DER — Trd40x40 (P8) 5 55 68 68 B8 84 85 14 85 85 15 6 M8 1.075 3675
FXN44AR FXN44AL Tr 44x7 1 55 72 72 72 90 85 14 85 65 15 6 M8 1.029 4135
FXN45AR FXN45AL Tr 45x8 1 55 72 72 72 90 85 14 85 65 15 6 M8 0.999 4186
FXNSOAR FXNS0AL Tr 50x8 1 65 80 80 80 100 105 17 105 80 20 6 M10 1.749 5780
FXN55AR -- Tr 55x9 1 65 80 80 80 100 105 17 105 80 20 6 M10 1475 6345
FXNGOAR FXNEDAL Tr 60x9 1 75 95 95 95 120 125 19 125 100 25 6 M12 2927 8718




BK Series

Model dy
No.

BK6 B
BK8 8
BK10 10
BK12 12
BK15 15
BK17 17
BK20 20
BK25 25
BK 30 30
BK35 35
BK40 40

BF Series

Model dq
BFE/8 6
BF10 8
BF12 10
BF15 15
BF17 17
BF20 20
BF25 25
BF30 30
BF35 35
BF40 40

b*0.02 h*0.02 B,

BK 10~40

| L, L; B H
23 5 24 4 52 32 26
23 7 26 4 52 32 26
25 5 29, 5 B0 39 30
25 5 29 5 B0 43 30
27 6 32 6 70 48 35
3k 9 44 7 B6 64 43
3k 8 43 8 83 60 44
42 12 54 9 106 80 53
45 14 61 9 128 89 64
50 14 67 12 140 986 70
61 18 76 15 160 110 80

2-0% DAL Thnu

GYCHOREDRZ |

[&

L B H b+0.02 ht0.02
14 52 32 26 17
20 60 39 30 22
20 60 43 30 25
20 70 48 35 28
23 86 64 43 39
26 88 60 44 34
30 106 80 53 48
32 128 89 64 51
32 140 96 70 52
37 160 110 80 60

17
17
22
25
28
39
34
48
51
52
60

B1

25
34
34
40
50
52
64
76
88
100

25
25
34
34
40
50

52
64
76
83
100

H1

26
325
35
38
55
50
70
78
79
20

Hy

26
26
325

70
78
79

15
18
18
28
22
33
33
35
37

15
18
18
28
22
33
33
35
37

38
38
46
46

68

70

85
102
114
130

BF 10~40
P da
38 -
46 55
46 55
54 5.5
68 6.6
70 6.6
85 9
102 1
114 1
130 14

Z Collar Size ©oT

Ly

6 5

6 5.5

5 5

6 5

6 6

8.5 7
8.5 8
1" 9

13 9
13 12

175 15

108
10.8
10.8
14
14
17.5
20
20
26

Z

12
5
6.5
6.5
8.5
8.8
1
13
13
17.5

Mess (g)

120
260
270
310
680
710
1340
1880
2080
3100

Ls
5 12
75 14
5 16
5 19
6 22
T 24
8 30
9 35
9 40
12 50
15 50

Mess(g)

230
230
360
390
530
1270
1650
2310
3330
4380
6670

Bearing Snap Ring

606ZZ

60822
600022
6002ZZ
6203ZZ
6004ZZ
620522
620622
620722
6208ZZ

www.Line-harekat.ir

cé

c8
c10
C15
c17
Cc20
C25
C30
C35
C40




FK Series

D0

FK 4~8
Model
No.
FK4
FKS
FK6
FK8
FK10
FK12
FK15
FK17
FK20
FK25
FK30

FF Series

Model

FF6-8
FF10
FF12
FF15
FF17
FF20
FF25
FF30

dy

W

15
18.5
20
23
27
27
32
45
52
57
62

10.5
13
14
17
17
17
23
30
30
32

22
24
29

33.5
29.5
29.5

36
46
50
60
61

18
20
22
28
34
36
40
50
57
63
75

PCD

24
26
28
35
42

50
62
70
80
95

FF 6~8

22
28

40
50
57
63
75

oB

25
26
28
35
42
44
52
61
68
79
93

36
43
52
63
77
85
95
117

[ How o instal A]

HowtoinstallA HowtoinstallB X

Ly
55
6.5
55

7
7.5
7.5

10

10

8

PCD

28
35
42
50
62
70
80
95

T
2
35
35

28
35
42
52
61
68
79
93

—o Ve

FK 10~30
i b
6.5 3 34
6 3 34
85 45 34
10 5 3.4
8.5 B 4.5
8.5 6 4.5
12 8 5.5
13, 12 6.6
12 14 6.6
20 1F 9
17 18 1
H
f_} ! *‘-
e @
X h g
34 8.5
34 6.5
45 8
5.8 28
6.5 1
6.6 i
9 14
11 175

6
6.5
6.5
6.5

9.5
1
"

17.5

5.5
6.5
6.5
8.5

z Collar Size
Ly Ls
4 35 35
4 45 45
4 T 5
4 75 55
4 55 55
4 55 55
6 10 10
10 9 9
10 | "
13 15 15
15 9 9
Mess (g) Bearing
30 60622
60 608ZZ
100 600022
140 600222
290 620322
380 620422
530 620522
930 620622

aT

10
"
12
14
186
19
22
24
30
35
40

[Howioinstal B]

Mess(g)

40
50
65
125
200
225
340
770
1065
1465
2300

Snap Ring

ce

ce
C10
C15
c17
Cc20
C25
C30




" ”
Cable Carrier »
Product Code. Dimension  Bending Pitch Weight Product Code.  Dimension Bending  Pitch Weight
A B C D RadiusR Kg A B C D RadiusiR Kg
CK15A015R025 15 15 20 23 25 25 0.23 CK24 A025R 24 25 32 39 435 045
CK15F020R035 15 20 20 29 a5 25 0.27 CK24 A040R 24 40 32 54 40,75, 435 0.50
CK15F030R035 15 30 20 39 a5 25 0.30 CK24A050R 24 50 32 64 100 435 0.55
CK24 AOGOR 24 60 32 74 435 0.60

Product Code. Dimension  Bending Pitch Weight Product Code. Dimension Bending  Pitch Weight
A B C D RadiusR Kg A B C D RadiusR Kg
CK20A 025 R040 20 25 26 37 40 33 0.40 CK25A040R 25 40 42 62 42 1.26

CK24B OGO R040 24 60 32 74 40 435 0.60 CK25A050R 25 50 42 72 40,75, 42 1.36
CK25A060R 2560 42 82 100,125 42 1.46
CK25A080R 25 80 42 102 42  1.65

CK25A100R 25100 42 122 42 1.86

Product Code. Dimension  Bending Pitch Weight Product Code. Dimension Bending  Pitch Weight
A B C D RadusR Kg A B C D RadiusR Kg
CK20Y 025 R0O40 20 25 26 37 40 33 0.40 CK30A040R 30 40 47 B2 52 1.36
CK20 Y 040 RO40 20 40 26 52 40 33 0.45 CK30A050R 30 50 47 72 50, 785, 52 1.46
CK20'Y 050 RO40 20 50 26 62 40 33 0.50 CK30AO060R 30 60 47 82 100,150 52 1.56
CK20'Y 060 R040 20 60 26 72 40 33 0.55 CK30A080R 30 80 47 102 52 1.47
CK30A100R 30100 47 122 52 1.84

www.Line-harekat.ir




Product Code. Dimension Bending Pitch Weight Product Code.  Dimension Bending  Pitch Weight

A B C D RadiusR Kg A B C D RadiusR Kg
CK35A040R 35 40 52 64 56 1.45 CK40AD0BOR 40 80 62 108 72 285
CK35A050R 35 50 52 74 56 1.53 CK40A100R 40 100 62 128 75,100, 72 298

CK40A120R 40 120 62 148 125, 150, 72 N
CK40A140 R 40 140 62 168 200, 250, 72 324

CK35A060R 35 60 52 84 50,75, 56 1.61
CK35A080R 35 80 52 104 100, 150 56 1.76

CK35A100R 35 100 52 124 56 1.91 CK40A160R 40 160 62 188 300 12 3.37
CK35A120R 35 120 52 144 56 2.06 CK40A180R 40 180 62 208 72 350
CK35A125R 35 125 52 149 56 213 CK40AZ00R 40 200 62 228 72 3.63
CK40A100R 40 100 62 128 125, 150, 72 317
CK4DA100R 40 100 62 128 200, 250, 72 324
300
Product Code. Dimension Bending Pitch Weight Product Code.  Dimension Bending Pitch Weight
A B C D RadiusR Kg A B C D RadusR Kg
CK35Y040R 35 40 52 64 56 1.56 CKEDAOBOR 60 80 82 112 91 2.98
CK35Y060R 35 B0 52 84 56 1.66 CKE60A100R 60 100 82 132 100, 150, 91 3.1
CK35Y080R 35 80 52 104 100,150 56 1.76 CKE60A120R 60 120 82 152 200, 250, 91 3.24
CK35Y100R 35 100 52 124 56 1.86 CKEDA140R 60 140 82 172 300 91 3.37
CKI5Y125R 35 125 52 149 56 2.00 CKE0OA160R 60 160 82 192 91 3.50
CK35K040R 35 40 52 64 56 1.68 CK6DA180R 60 180 82 212 91 3.63
CK35K0B0R 35 60 52 B84 56 1.78 CKE0A200R 60 200 82 232 91 3.76
CK35K080OR 35 B0 52 104 100,150 56 1.88
CK35K100R 35 100 52 124 56 215
CK35K125R 35 125 52 149 56 2.35
Product Code. Dimension Bending Pitch Weight Product Code. Dimension Bending Pitch Weight
A B C D RadiusR Kg A B C D RadiusiR Kg
CK42A040R 42 40 58 67 62 1.68 CKeDYO0BOR 60 100 82 132 91 3.00
CK42ZA050R 42 50 58 77 62 1.74 CKE0Y 140R 60 140 82 172 91 3.40

CK42A080R 42 B0 58 87 75, 100, 62 1.80
CK42A080R 42 80 58 107 150,200 62 1.93

CKe0Y 200R 60 200 82 232 150,200, Nn 3.90
CKEOK080R 60 100 82 132 250,300 9N 3.50

CK42A100R 42 100 58 127 62 2.08 CKEDK 140R 60 140 82 172 N 3.90
CK42A120R 42 120 58 147 62 2.20 CKEDK200R 60 200 82 232 9N 4.40
CK42A125R 42 125 58 152 62 2.28
CK42YOQO50R 42 50 58 77 62 1.90
CK42YO0BOR 42 80 58 107 62 2.02
CK42Y100R 42 100 58 127 62 2.14
CK42Y125R 42 125 58 152 62 2.26

CK42KO50R 42 50 58 77 100, 62 2.36
CK42KO080R 42 80 58 107 150,200 62 248
CK42K100R 42 100 58 127 62 2.60
CK42K125R 42 125 58 152 62 272




SY b

palia oy 5l @
cuai gsly e
Caid gy jl s sl S

B 55 > 370 - BMS 2,
chlizs olal g ojsS 2 @

_héi'gﬁ 9 S2ges Sy joe tls.'l“ pelal LB o
Ol?it },.:5 il o

Gten 3 5wl 0 o0

Wb opl cutS g DI @

oAl g )IL-?'I'I'I'!' |.J"L:| »pe

o o oS> g oul ilul el plis e
G Jlpl g ONC Yl fpdle 33,06 @

Match 3 sl ) ,us

Mach3 gls asews plasj) LolS il o

NelSius 538 gald sk USB cumi L gilulinjl Lol sl o
Ayl s 5 |y USB Lol Casnidy alisd i 216

OSSO (P T

ool ¥ oKHz I8 4 o8 WL 160 @

USB Jlail 313 5ltiys Algh om Capmidg bl V)03 81238 gbolisd 3 @
Db gy dahe ¢ (13,56 Cumdg (3 L5l 35wz by

ojgkale dot (399 VF @

pMach3 Ll ¥ By sise afly car g e Cod s 3,515 s @

S stles
el 3 Shes JBI5 o2y n [5395 g AL 5 SSS @

HQ (water cooled) la,gige Juaiamn!

(Seslw sl Sl 6l @

Slg gl 00 Sy S VA @iy 0 @

el o Sluvogr gy 8 Clles opane @
omb slheoll e

O piS 3l @

Liming S8

Vhos b Jojle 5 (sudygs gls (1S5 w
ool 8 gl o
Olali 58 cile o

ogeagll Jads

CNC 5 ot S uile jold g pold cblo cas cilis o
cilites sl 5 ple 3 @

RICHAUTO s, DSP ) ,=s

(3372 ¥ 5 ¥) j520e CNC (sl oSz g b oy Jlail i @
Foell @l gy @

USB 4 Jlail culs o

STEPPER MOTOR 4 SERVO MOTOR ‘_;51.\31 o|J ™

e e e 3 S @

g S e olSis ey vl @

www.Line-harekat.ir




| =

LINE HAREKAT Co.

s PLC BE,AZ &S (WE) 1390 g9

KFF B gl doliy cudls @ Sy S YOL Y, e
MPG (g3g)5 jl Slats @ Caa Ve g Wil 280l @

lel-a:é] 11)51 pi le.lb L]
Ol a2 g 4 4e ¥ S cLBL o

b Candge JiS e 3D dlasls 5F oLl @

M-code ¢ G—code jl gsluil e

Lf-"s)’-l"jts:ﬁ)ﬁ MY LY le)b »

wa HMI Wa 5 ,9m)
EL,M,B,C200,LS600,L :;uss ¢l g

SD oyls 5l Gliss e
M, B, C200, C2000, CP2000 : ;i ww sla gy

&V EF chple s @ <
Ontle g Yl oo ity 03 35250 @

FomFer il s e o
_/ S PLC b e
At sl gl e

.

el S g sl S ply

oS el jless sty e Oy b 0 a5 ogaace ST L 3V s |

Cogloy gl ply 3 pglia @ Yo s s @
AS Flodrp e Loyl plp ppslic ®
2 ) Pl palie @

Wkl jguif cél @

eliiid 5ol @

I

Yocepmp,lcll o
plie g S b @
Sl Gl




| =

LINE HAREKAT Co.
Jdiaan! lakad ADtech Js
ield gl F0 Claad @ Motion Control gls dwgp )y lie  G-CODE | Jlily e
Sanhlr-ppli-Jiglunen- o f MEPCZE PMC Modbus JS5s | Sty @
' REAL TIME =5 55g0ess @
3590 il L ygise 90 yma FU S LB @
iyl ole g LAN LWL o)l§ pas il et o
& aild s Radonix J s
G g gl Jup e A e el B Loy o
o Glio YL cds o Olajen joa (A5 J)2S @
ARNPIANTLY TSR oy (55T 5 525 YV @
el i cole @ PWMg Sglil 2558 ¥ @
Jlulag Jad YH S cels ()b @
BB g o Crgoy) i SullE @
e F g T Vele s 0 @
Foald Jl 2o ¥r AlolBGLAN Cijgs @
LHC 15,5 1SO30 45,30 5 Suid g1l Sl Jg

oy g S glgil @ ﬁﬁ t el Gilises sla s 2 @

wilize slul g plo > @ ( ﬁ?ﬁ'/ XL,L,H,™ ,0M,AM ,T8,T\- , B-H , B-L
' YP P il sls g2ye 2 @
[ il

HSD Jtiass!

wly s T Jly b5 o ol 28, 2 @ (
Sailogily (2 Jlpl g e 2 0 @ )
Wkl 138 cile @

- J  Ofther product »

www.Line-harekat.ir




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40

